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[n an economy investment

(A) ¥ 300 crores {
(C) T 650 crores

™

Find the real GDP if _._:.._H__.___ﬁ__._._.

(A) 864
(C) 600

Which of the _.n__nﬂuﬁ is not true

{A) Itis income receivet

.-

(B) _aEn_nnﬂ ..... _J

84 for calculation of National Income is

* Income Disposal Method
E_mn._?.__ﬂ__ Share Method

- 5.7% G =T = 10, where C is
Ok Y @eposable income, G is government

et _ income.

150

W) ) 200

ol -,......._ wre is increased by ¥ 300 crores and
- marginal propensity to consume is 0.6.Calculate the total increase in income,
: 4y ¥ 100 crores
Dy ¥ 750 crores
GDP =10 and price index = 120.
@), 500
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R L 1 _.H , the EE._:,E._E.: quantity but

=

. _ﬂ:._.n o _...... ¥ increases, constant
; , ﬂ.ﬂ.._._nnnn-_n”“n_ﬂf _,.H _D_w decreases, constant
MR = MC Petitigy :_._”.,....“ E:&..E..:E:&:#ﬂ.« for equilibrium of a

MR < MC ! o
IIC should have s R NRGD MR >MC E8 1 oosi
n“__.,“ and (V) mﬂm_-..._._____..* MC should hitve a positive slope.
£) (1) and (V) ReF Vi _”_._____,.Hl
. are already m.—n_.._nua .....:.%”. (1) and (IV)
“.b._._ m._mﬂr Costs nln-jﬁ for all, and cannot be recovered.
(€) Private costs ._.E_ Historical cost
~ price clasticity of demand of (D) Social costs)
(A) Very Large B ey perfcct compition will be :
(C) Large (B} [Infinite : ,

(A) monopoly
(C) monopolistic competition (B) oligopoly
(D) perfect competition

~ Market characterized : x
e applicable to factor Ewwrnnﬂnﬁmrga, a product or service and is mostly
is known as : _______...E#n_in firm is the pnly buyer of a factor
(A) Oligopsony : o o3
(C) Bilateral monopoly ma.m.ﬁ_.,ﬂdﬂwa:ﬂ-.

g4, Assume that when price is ¥ 20, the quanity demand A is 9 units, and when
price is T 19, the quantity demanded is [0 units. Based on this information,
what is the marginal revenue resulting from an increase in output from 9 units

to 10 units ?
(A) T 20 (B) T 19

§8. Average revenuc curve is also known 8 o
(A) Profit Curve (B) Demand Cofve B
(C) Average Cost Curve (D) Indiffe urve hna .

With a decrease in demand there 15 _ L b
(A) an overall decrease in price but m,._m caeasc i
(B) an overall increase in price but a destetse In "
(C) adecrease in the equilibrium pf in
(D) no change in overall price 8
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of the foll
Land is

e OWing js

L1

i
- Tl—

- Supply of land is fixey

Douglas

A) Q=K°L (-
(©) Q=KLUnc
" gervices ? It is not absgpyer X

1)

C
Es=|
(D) Es=°
mo + 6p. Find the elasticity of supply,
: toY W
By 123 woiblOl hee
D) +3/4 e v
istic of land ?
Land is an active factor.
Land has multiple uses,
as :
Q - N._H l-a)[aC

Q=KL" Cll-a) .
want satisfying power of goods and

. u«m«u&..__ﬂnn&n_ﬂnnﬂ_ &E.___eﬂ. . It is a subjective concept and it
_ﬁ.}v :F.—._.—.q i = - ﬁﬂ_. /
~ (C) Need ) Consumers equilibrium
~ Ifthe price of Wheat En_.ﬂuﬂmam- 3 Demand

and consequently the quantity gyor
Quintal. Calculate the e

per Quintal to T 2,200 per Quintal

_m.mﬂn& Pt rises from 2,000 Quintal to 3,200

@ +07 =3
@ 1.7
(C) +2.7 | L
W—:H.“_uﬂui.””nmm—ﬂﬂ:ﬂ-ws BI¥en In the following table, answer the
Quantity of | Total Product e dact | M e
labour (TP) (AP) rginal Prod
I 10 N Qb h
- : R ¥
3 - e 11 .
4 : B - 1
5 52 L =
6 - y - g
yoflabouris6?

8. What will be the average

(A) 9
© 11
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; "’ ..- iml Mad . Txc . |
PHIMAry secto h-‘lilnh gector ? } A
Rich vear - (p) Service sector my
: J* Y anmh‘hﬁ (D) gecondary sector »'f/ .
) 199C ..,_ﬁllowcd the managed floating exchange rate -.I,}.,Iill

) '995 0 LJL

8 () 199! f’"’l

A

e,

| 4

inimum fst‘;won Price tf% (D) 1993
| oI the cost of r ;
(A) Two mdahﬂfnﬁ;:;%“ fixed by the Govemment of India at
(C) One and a half time (B) Half

which of the following ig ny! (D) Twice
economy 2 ﬂu of the four basic economic problems of an
(A) What to produce ? 3
(B) Where to produce 7 5
(C) For whom to produce?
(D) What provisions are to
g3, Finance minister was di bemt"' economic growth ?

i
This area comes under : CUSSINg, balance of trade and balance of payments.
(A) Micl_'n b?.cunnmic; (B) M Economics
(C) Capitalist Economy {n}] D

}g- g3, Which of the following is an example of .

| " normative statement 1

JR)Ihe demand for a good will incress if its price decreases.

(B) The gm’n?mment should: increase taxes on liquor 10 redu
consumption. o

(C) A decrease in interest ratey will e 1o an increase in investment,

(D) An increase in government spending will reduce the unemployment rate.

&4, When some people start investing money in share market then many people
start following the same without considenng its advantages and disadvantages

is an example of :

(A) Veblen effect » (B) Bandwagon Effect

(C) Snob Effect 4 5 (D) Sheep Effect _
& Which of the following does omics ?

(A) Itis pormative in nature. : |

(B) Itis abstract and purely theoretics

(C) Ttisanart s )
(D) It incorporates elements of Macro as=w="

[N

JilL) it

ce Its




10t & Member of the G20 economies ?
i
‘“‘mm between countries are referred




Wh&hﬂ" on imports of manufactured goods

on intermediate inputs and raw

1s known as |

(C) Bound tariff g Escaiated tariff
g Which of the following 5 4 ... " Preferential tariff

from ﬂ'!lf! arising out of e D nrotect human, animal or plant life
piodiversity ? SPesis, toxins, etc. and to protect the
(A) Prohibited tanff

(B) Sanitary and phytosani

(C) Techmical barriers 1o u-l:?_. mh“ll

(D) Anti-dumping duties

With regards to internationa]
mmﬁlmpcm Union can be categorised as a

(A) Trading bloc
(C) Bilateral agreements (B) Free trade area
(D) Customs union

(A) Baumol and Tobin theory
, (B) Adam Smith, Absolute Cost _
' (O) Heckscher—Ohlintheory B¢ theon

(D) Factor Price Equalisation theory

36, Which tariff 1s calculated on the basis of P
- ; specific contents of th
RS (Chitics are pu_}'ab!: by its “mmﬁmm& ih::rt?nns‘.:i“'.;:IL g
{A) Compound tariff (B) Mg tarify

(C) Ad valorem tariff (D) Technical tariff

37. A total b_ap imposed b:!' the Govemnment on imports or exports of some or all
commodities to a particular country of regions for a specifiad or indefinite

peniod is known as
(A) Prohibitive tariff (B) Anb-dumping duties
(C) Embargo (D) Rﬂ.ﬂm’ origin

8. The theory of Comparative Advantage in lﬂlllﬂm nal Trade was presented by
|-

1

(A) Adam Smith (B) Dafid Ricardo m

(C) John Maynard Keynes (D) Friedman g
P facilitates and improves access t [nditn Government data. i

(A) E-Amrit (B) ENAM A

¥t (C) NDAP (D) MIDH -
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% p'::?hmic good e.g. electricity and

{D ) Distribution function
) Protection function

$Mistic of business cycle ?

(0
(¢
r.::

“"ﬁ“‘" peak, contraction and trough.

":I“-llﬂuuufhminm cycles 7

nding
(o
| -

\5 ¥ &re not visible for some time, it is called :
H : .‘ 1#5.;.?-’* 2 mi W): Decision lag ‘
(&) mplementation lag (DY Impact lag

B PR e ah
L f""  the g lent’s total expenditure over its total receipts
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(A) Revenue defici (B) Fiscal deficit
(D), Budgetary deficit
my@hwmmmmﬂmw the
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(C)

(5)

srogressive direct tax System e
| -, Economic growth withem%:

unequally. bility Becayse it distributes the burden of taxes
(B) Those who have greater
is distributed fairly amo I:ih:-"’ pay contribute more and the tax burden

Uniform taxes for al|, lation.
(D) Luxuries are taxed heayily, E;

Non-debt capital receipts of gy,
(A) Market loans for mfrmm ““I"aﬁ: Minclude

(B) State provident fund (Nﬂ]
(C) Securities issued against g,

(D) Recoveries of loans and ag e i

Vlﬂm

Which of the following is not a ch £ money ?
¢ oI mo -
(A) Generally acceptable ‘g]u“E rortlessly recognisable

ly tra
(C) Eastly transportable D) Easily reproducible by people

The currency issued by the Central
' disb
by Supporting reserves and its valye gi":ﬂl:;;ﬂg: I;L?; i and 1s backed

(A) Real money (B)
: _ Credit money
(C) Fiat money (D) Sovereign bonds

Considering that with a money multiplier of | 5 there has been an increment of
¥ 600 cr of money supply. Find out the. monetary base.

ngs

(A) T 800cr ‘B) 200 cr

(C) ¥400cr €D) 2900 cr

Calculate Narrow Money M1 from the;fullnwmg data.
Currency with public | ? B88.000cr
Demand deposit with the banking system T 2,20,000 cr
Time deposit with the banking system T 2,40,000 cr
Other deposits with RBI T 2,60,000 cr
Saving deposits with Post Office Saving Bank ¥ 50,000 cr
(A) ¥5,68,000cr @) ¥6,18,000 cr

(C) T5,98,000cr ij) T 6,38,000 cr

The cap and trade method used by g to ensure that pe
minimized in the most cost effective ﬂy u nexample of :
(A) Government intervention to mrrect exte '_*_’"‘ 2
(B) Government intervention mthe fmerit goods
(C) Government mterventmnm he. Jert goods,
(D) Government intervention for correeting market failur







| Real GDP less depreciation
D) GDP at constant prices

S the ratio of :
fge in saving
' ,: investment
',' Nge in investment
1y .h.ﬂ'lmg: in investment

1 iNcome is known as
o (APC)
Sime (Mpc)

SIMISHc aboyt fire market conditions -
SHIE economy,

gRInay begin,

PSIACHion I economic activities.

'-:Ili-l-.-

1€ method, thh of the following income is Iﬂﬂ!ﬁﬁl

.l"r

. goods
lddﬁiltmarkummtfﬂles = 750,
m&immmuu consumption 1:2

(B) 450
(D) 650

ew orders ﬁﬁ:lpﬁll and ce

-

(B) lmmgmdl 1
{D) ul'




